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x=¢(0,0,1)

y=c(0,1,1)

plot(0:1,0:1,type="n" xlab="m/r" ;ylab="p” xlim=c(0,1.5))
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polygon(x,y,density=10)
abline(h=1)
abline(h=0)
lines(c(1,1),¢(0,1),1ty=2)
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x=c(0,0,1)

y=c(0,1,1)

plot(0:1,0:1,type="n" xlab="m/r” ylab="p” xlim=c¢(0,1.5))
polygon(x,y,density=10)

abline(h=1)

abline(h=0)

lines(c(1,1),¢(0,1),1ty=2)

lines(c(0,0.5),¢(0.5,0.5),lwd=5)
lines(c(0.5,1.5),¢(0.5,0.5),lwd=>5,lty=2)
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# ol & Abgo] Holx 3 % ol S SE
pr=c{rep(0,101))

prob==c(rep(0,100))

n=1:100

pr[l]=1

for (i in 1:100)

{

prli+1]=pr[i]*(365-i)/365

probli]=1-prli]

}

plot(n,prob,type="p"})



220 245 B UK K83t AlElS 837

0e

07

T R S R

05

00 01 02 03 04 05 06
L L

0.3
L

0 200 4000 5000 8000 10000 0 200 4000 6000 8000 10600
s AN
0 » 24
] [Vt -
= |
o e
o
o
S
a a
o o
a S
=R vi
e e
© T T T T T T T T T T T
i} 2000 4000 6000 8000 16000 0 200 4000 6000 8000 10000
Aggs pk:3-ES
I8 2.10. ST IUT0| LS SB(LFE AIRH01H 23, 2§ 10,0004 AlR)

S FHAAMAN AR (2SR FFARA AL eI FE ol AR 7T £
AGE (1S8R FaAA A= FAH FEolE )9 d2A BFES dAEe AH
ol U2 FE3} S AR ARAA Ho| ofiz Feke FE, 271 I A dAE Al
FollA ehdo] hee(FH T Hol Sz FY) && Fol vk
AL AFEAIEA ]AE ©] 83 10,0008 BA FHS J¥We] e HES M A FIR
Y o 39 2103 22 Wl 7HA 2] vtk el vl 7EA) 24 22 050 £ e
€ Aok a3y £ske AP MR g 4 5 Uk
HHe] FHS AREABH IS o183t 100W AR $A 2ol Yer FES W Ad 73
ARY oy 39 2115 22 ] 7hA] 2"l gtk R AAg F A 39S 2 0.50] fE T
L H7IZE OIS & ABASTE How s FES 73177 o HA Ak AL & A 18
B2 N=H 85 227 2] ASME AFEE o188 NBALE TA o] $AA A )AE
st B Fo7} et
NEd 8L 72 v 48 = & 712 AR AP357 AR w2t $39] 239 vex 4
=] F33Le] 0.57F Aok A T4 2P| e A5 5A9 Aol yex A
A7k 0l 7 ATk Aol ot @RSt AR weh FH] aPHo] ver A5 F
8 XAl Yo A2 Aol AR Fopytt Atk F o Aboj= APSHA "k o8 thE 1H
2.128} 22 SAA AlBH oMoz Feldte] KAl
e 2% 2132 ARASE U MoR P uf NAARTE Al w2} FH49] 2] vee 3
T TR A W] Yee A AolE Urhl: 2dolth. ARAST AR met $4e 19
ol Yot gt FA RAM] et A Aol ARG Folxltt sht 2 WF Fo] ARA

L

:



838

02
2
O

A
10

09
i

‘

i
3

o8
i

00 D1 82 G3 04 065 0B
a7

g Ag¥r

B
88 01 02 03 G4 G5
)
3
0.4
Il

SN NHH S w2

© —
@ k\\/_
g
=4
a -
[AJ8
[=
o]
=) T T T T T T
0 000 4000 5000 8000 10000

A

D0 LU= B39 2RT0| UR2E R 2N

Wm

T T T T T T
0 2000 4000 6000 8000 10000

XHol
[}

-50
[

NS
33 212, SHQ DRG0 LS =HE Y SH9 JEWH0| UEs 359 S RAH0| U= e AOI(BFE
A2eojd 23 ~ 2 ¥ AR

F7het g dien 38 ¢ 5 It
Alel 40 VoE 29E5S 187 93 R £23YEE thed) 2t



0e+00 2e+05 4e+05 Be+05 8e+05

NS+

IO U= A2 AMB0| U R4 R0l

Xtol
é§Z§
i-—
=
£3:
-

Jgl 2,13, EHo| I3iHof
AIR014 2T} — WorA Al2H)

C
o
il
Ty
¥
on
2]
o
I
i
rCl
=3
-
o
ric
et
4
_\-9_
O
[l
lo
s

law large.number= function(n)
{

par(mfrow=c(2,2))

for(i in 1:4)

{

# M2 ol BTN I
x1=rbinom(n,1,0.5)

# A=
xbarl=cumsum(x1)/1:n
plot(xbarl,ylab="p" xlab=" A8 34" type="1")
abline(0.5, 0)

}

par(mfrow=c(1,1))

}

law.large.number(10000)

law large.number(100)

law.large.number2= function(n)
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par(mfrow=c(2,1))
# W 2Rol R R Y
x1=rbinom(n,1,0.5)
# A=
xbarl=cumsum(x1)/1:n
plot(xbarl,ylab="p" xlab=" A1 888 4" main="%722] 18 Wo] }& EE” type="1")
abline(0.5, 0, col="red”)
# $49) 2YWe] U2t A5 BA 2AHo] et Bae Aol
=cumsum(x1)
T=1:n-H
difference=H-T
plot(difference,ylab="x}0]" xlab=" Al #3 4" main="1gYWo] L} A4} wa}doe] L}o: A
) Aol type="1")
abline(0, 0, col="red”)
par(mfrow=c(1,1))
}
law large.number2(10000)
law large.number2(1000000)
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«9 9 = B 5 =F g9 BEE
1 SK 73 48 5 0.603 0.045
2 4k 70 54 2 0.565 0.045
3 33} 67 57 2 0.540 0.045
4 A 62 60 4 0.508 0.045
5 LG 58 62 6 0.483 0.046
6 o) 56 69 1 0.448 0.045
7 24 55 68 3 0.447 0.045
8 KIA 51 74 1 0.408 0.044
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3 33} 67 57 2 534 481 0.540 0.552
4 A AL 62 60 4 497 509 0.508 0.488
5 LG 58 62 6 532 600 0.483 0.440
6 oo 56 69 1 530 615 0.448 0426
7 4 55 68 3 533 554 0.447 0.481
8 KIA 51 74 1 499 602 0.408 0.407
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E 2.5. T204F 87 Cel 28 U TEtuctA SEH(2008 AIE)
<9 i z % F EF5A FAd $E  $EY EELX  IHuHg: FE
1 SK 8 43 0 632 461 0.659 0.042 0.653
2 =2 70 56 0O 647 542 0.556 0.044 0.588
3 24 69 57 O 624 518 0.548 0.044 0.592
4 A 65 61 0 557 596 0.516 0.045 0.466
5 3}3} 64 62 0 592 595 0.508 0.045 0.497
6 KIA 57 69 0 503 555 0.452 0.044 0.451
7 sloj== 50 76 0O 499 609 0.397 0.044 0.402
8 LG 46 80 0 468 646 0.365 0.043 0.344

200733} vpA7A 2 S8 FElaeks 8 73 b & 2,59 2k Rl sEdAE 39 °]
U gelazks $EEE 5ol 299 FARD 21 33E= $EAE 5oV HElugks SEREE
SE°] 499 A ET T

AH] 5E 9% R 239+ o3} 2ol B2 Col|A ‘T Zop72007.txt’ 3} “Z 2 oF72008.txt’2] Y]
£4& By

options(digits=3)

#2007 2oL £F

Z 2 o}2007=read.table(”c:/ L 2 o}2007.txt” ,header=T)
attach(Z 2 o}#2007)

E=5/(5+9)

ERFEL A=sqrt{FE*(1-5F)/(5+H))

Z 2 op720075-EX =cbind(Z 20}12007, 58,5 5XFLA})
T ZOFF20075ER

# p(l-p)9] 2=

p=seq(0,1,by=0.01)
plot(p,p*(1-p),type="1",main="p(1-p) 2} L")

# 2007d EEOHL £33 delxgx 55
JelugtasE=553"2/(F52 2+54%"2)

Z 2 op720075-E X 2=cbind(Z Zo}120075 8 &, Jelelx 4 §)
ZZO20075EE2

ofy oy

# 20083 ZROFT &

2 2 o} 12008=read.table(” c:/ TZ o} 2008.txt” header=T)
attach( Z 2 o}F-2008)

$E=5/(3+3)

SEEEL A=sqrit(SEX(1-58)/(5+M))
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H 2.6, KHA2 @A E HUER Mot SEHE(BE 28 XAS)
st &4t ‘éi‘*@ 378 o T
A 511( 825) 89(108)
B 352( 560) 17( 25)
C 137( 407) 132(375)
D 22( 373) 24(341)
A 1,022(2,165) 262(849)
B 2.7 BHEH
R S A E A AE AR A E
A 0.619 0.824 0.643
B 0.629 0.680 0.631
C 0.337 0.352 0.344
D 0.059 0.070 0.064
A 0.472 0.309 0.426

T 2 op20084 5 E =cbind(Z 2 o} 12008, 58, 4 EXZ 24
Z2oF720085 R

#2008d LR LT SES HEluEs 58
HetnetasE=3534"2/(35% " 2+$44"2)

Z R oF12008% 5 X 2=cbind(Z Zo}720085E X Vet~ 5E)
ZZOFF20085EE2

Al 6(&l£9] A4 (Simpson’s Paradox))

HERE AAAcz B od RERHoz B oo Ayt AR ohe FHE UehE 497 FF de
H o]& A¢el oM (Simpson’s paradox)ol#til Fth FE 2.62 o thEtme) 4709 (o] it
4709 2 745 o] SlE )0l XAt Y Sof AT FY 8 PAEE AT EeHEoIo
o2 BAE S0 23

(a) A 73751%, AR AEDN AANGAES B adEg 2L, FAE € 5 UFUN?

(b) Z 32d ¥AE, FNPFES AFAES Yiagug 2gAle. FAL ¢ 5 Y5
(c) (3)9} (b)E T3t ZEL U= HAL.

(d) A% G A% Qo) Y Ex gL d¥ iz a9 vasAL

(Fel)

(a) $YEE o83t YAREE the & 277 Lol A4 ATh
A BAE, FAYAEN JAYEES ATz 2ARD O 39 2173 Aok AA @
Al §Ago] ciAe RABRT o 16% £ T 5 Aok

(b) 7 338 $AE, SRR ED AAYATS Y= TenT the 1Y 2189 2ok 47)
o B BT ol AR YA YAERTY & ¢ 4 Ur
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a8

02 04 8%

030

[iX: B ¥

2] e ax

2.17. SHE vz I3 2.8, 2t sed 38 o=
o
8 -
o o YALA
=
2
S 4
+ ° o JALB
4
)
E3
g 4 o gXt-C
~ o YALD o ALC
o GIALD
f=3
g
o 01 RL-A
o o ®ALB

00 02 04 06 08 10

2.19. ot9et dY SAZN XHXLE LB = M-S

ANFozs Aol §AE] A7l GAEHT T} Z FRBEE 49 BR BT ojn F
Ago) WA FARRT 22 & 5 Utk ol BHS AL Golztn Atk olHW AY
o] AT ol frE FAYZ o] o HE B7] f3ked ThE 1Y 2199 B WHES Wiz}

oAx}e] A% B C% DAA AhFoz ARG Bork §ASol R W S A%} B4
£ A48 goul AUH o2 AARSTL Atk 5, NS FABO] B2 o ol AAH
W FAEo] w2 SR AA AAstglh i dRle] B9t $E C% DA 4rHos
AVAST AT GASE L ww B A9 BolAE AUAoR AU B GASE ¥
&, HAEL AAET @ YA e R A7 AT WA FAB] L PR
Yol ARt old Afe AAFozE YA GARo| dixe] YARRT 2} 7 e
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(d)

BUE

4709 TR RF 2] FAEo] @At A BHrE A4 A Aok L7t File] e e
7k} AA FAEY Aol ¥l 7he) abE wiio] ozl i 7] R Y M3 % Aolz 2
sto] ARG SS & 5 Ak gy 2] FRE AE ASE Aol'ghe F2% W5 LA
%3 g el “%4 Aol 2T FAES HY 2RH AEE VE #7F Aok

BAHT RN G otle) By BEgg =g e ok 29 2209 2o @
At Gt FAS A TR B o] ofF UES ¢ 4 Utk &3 G- A(50.0%)
— B(34.4%) — C(13.4%) — D(2.2%) <o} A% Q842 C(50.0%) — A(34.0%) —
D(9.1%) — B(6.5%) ot}

A 69 o= 2-E0U BEE T2)7] 1} R 23 YE+ v Lok

options(digits=3)

# ETHEER
entrance—matrix{c(511, 825, 89, 108, 352, 560, 17, 25, 137, 407, 132, 375, 22, 373, 24, 341, 1022,
2165, 262, 849),nrow=>5 byrow="T)

col

names(entrance):c(ni}z% g.g_»}_)\g”, ”X]%«l %ﬂ}‘g”, ”Q'Z] 0‘1“5-1}‘/:1}”, 3] X]%.'} Oqt}"g”)

rownames{entrance)=c{” & A” "3}& B” &R 7 "3 D7 "AA”)

entrance

214} 2 & =entrance|,1] /entrance],2]

&) 23+ A B =entrance],3] /entrance|,4]

A A% A =(entrance],1]+entrance[,3])/(entrance],2] +entrance(,4])
prop.entrance=cbind(\dX} g4 F-E, AL AE, AATHE)

prop.entrance

# Hood=



prop.total=prop.entrance[5,]
names(prop.total)=c(” @=}, " Iz} 7 AA|”)

barplot(prop.total, col="green”)

# o o))
par(mfrow=c(2,2))
for (iin 1:4)

{

prop=prop.entrancel[i,]

[kl

names(prop) :C(” ‘E‘}_x}n 777 Cq X]—” , ” ;\('_]j‘“ ” )
barplot(prop, col="yellow”, main=rownames(entrance)[i])

}

o>

<o 94

A

2AE=c(0.619,0.629,0.337,0.059)

2) QR4 = (825,560,407,373)

plot(¥4&, A 42 xlim=c(0,1),ylim=c(0,1000))
text(0.619,825,” FA}-A” pos=4)

text(0.629,560,” FA}-B” pos=4)

text(0.337,407,” ZA-C” ,pos=4)

text(0.059,373,” FA}-D” pos=4)

# oAzt

24 E=c(0.824,0.680,0.352,0.070)

AP A4==c(108,25,375,341) par(new=T)

plot (84 &, A ¥ A4 xlim=c(0,1),ylim=c(0,1000))
text(0.824,108,” & A}-A” ;pos=4)

text(0.680,25,” &} A}-B” ,pos=4)

text(0.352,375,” 9] AH-C” ,pos=4)

text(0.070,341,” G X}-D” ,pos=4)

* *

.

# 43 2=
par(mfrow=c(1,2))
A =c(511, 352, 137, 22)

names(fg_y_;}\a].g_—]'_,\g)zc(nﬂ__l?_ A”, n—a_—}_)?!_ B”, ”1’5‘_!—_‘?. C”, ns_:';__\?_ D”)

847
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o
2
ol

& T8 =c(89, 17, 132, 24)
names(§7 1 34) =c(" S A7, 7SR B, "ER 7, " SR DY)
pie(F A, main="F Fstye] Bx”)

pie(F4 3y, main="gA 2] Hix~)

w

A
=

ry

N

12 BAS HERE 2o A §45P) AT £ U ARSES 6711 AN 2 Aol Raa
EE A¥sgone 71z $AT $ELE 29 A AHNES AW R A7)AE Aste] At
B4 gl AR 5 BAE 2AIE BAE 22 A9 61 BERAE WS et

2 ot

FE A 282439 288 187 ¢33t R A3 HYE

# vz B Mg B
x=rbinom(100,1,0.5)
law Jarge.number= function(n)

{

par(mfrow=c(1,1))
# WE ol BN U
x1=rbinom(n,1,0.5)

# A=
xbarl=cumsum(x1)/1:mn
plot(xbarl,ylab="p” xlab=" A| @ 84" main="5 A9 1A Wo] L}& FZ”" Jtype="1")

abline(0.5, 0)

}
law.large.number(10000)

# 57 1007) ©B2]7](10,0009 X)Bglo]H A)3)
x.val=c(0,10000)

y.val=c(0,10000)

for(j in seq(1,10000))

{

x=rbinom(100,1,0.5)

longest=rep(1,100)

switch=0

for(i in seq(1,99))

{
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if(x[i]'=x[i+1]) switch=switch+1
if(x[i]==x[i+1]) longest[i+1]=longest[i]+1
}

x.val[j]=switch

y.val[j]=max(longest)

}

# jittering

jitter.x=jitter(x.val)

jitter.y=jitter(y.val)
xmin=min(x.val);xmax=max(x.val)
ymin=min(y.val);ymax=max(y.val)
j-xmin=min(jitter x);j. xmax=max(jitter.x)

j.ymin=min(jitter.y);j.ymax=max(jitter.y)

# scatterplot with jittering

plot(jitter.x jitter.y,type="p”, xlim=c(j.xmin,j.xmax),ylim=c(j.ymin,j.ymax),xlab="number of
switches”

,ylab="length of longest run” ,main="10,000 independent simulations of 100 coin flips”)

# sunflower plot without jittering
sunflowerplot(x.val,y.val, xlim=c{xmin,xmax),ylim=c(ymin,ymax), xlab="number of switches”

,ylab="length of longest run” ,main="10,000 independent simulations of 100 coin flips”)

# joint density plot & contour plot(with jittering)
library(rgl)

library(MASS)

density2=kde2d (jitter.x,jitter.y,n=25)

open3d()

bg3d(” white”)

material3d(col="black”)

persp3d(density2$x,density2$y,density23z,col="lightblue” , xlab="number of switches” ,ylab="length
of longest run” zlab="density”)

image(density2$x,density28y,density2$z, xlim=c(j.xmin,j.xmax),ylim=c(j.ymin,j.ymax) xlab="number
of switches” ;ylab="length of longest run” , main="10,000 independent simulations of 100 coin flips”)

contour (density28x,density2$y,density2$z,xlim=c(j.xmin,j.xmax),ylim=c(j.ymin,j.ymax),add=T)
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contour(density2$x,density28y,density28z, xlim=c(j.xmin,j.xmax),ylim=c(j.ymin,j.ymax),xlab="number
of switches” ,ylab="length of longest run”, main="10,000 independent simulations of 100 coin flips”)

plot(jitter.x,jitter.y,type="p" ,col="gray”, xlim=c(j. xmin,j.xmax),vlim=c{j.ymin,j.ymax),xlab="number
yp p 3

of switches” ,ylab="length of longest run”, main="10,000 independent simulations of 100 coin flips”)
par(new=T)

contour{density28x,density28y,density2%z, xlim=c{j.xmin,j.xmax),ylim=c{j.ymin,j.ymax),xlab="number

of switches” ylab="length of longest run”, main="10,000 independent simulations of 100 coin flips”)

fake=matrix(rep{0,5000),ncol=50,byrow=T)
real=matrix(rep({0,5000),ncol=50,byrow=T)
fake[,1]=scan(”c:/A}ell-2/student-1-fake.txt”)
fake[,2|=scan(” c:/AFEll-2 /student-2-fake.txt”)
fake[,3]=scan(”c:/ A-#ll-2/student-3-fake.txt”)
()
fake[,25]=scan(”c:/Abe]-2/student-25-fake.txt” )
real],1]=scan("c:/ A}e]-2/student-1-real txt”)
real[,2]=scan(” c:/A}d]-2/student-2-real.txt” )
real,3}=scan(” ¢:/ AH#l}-2 /student-3-real.txt”)
(8=

real{,25]=scan(” c:/ A}#-2 /student-25-real txt”)
N=25

# jittering

x.fake=c(rep(0,50))

y.fake=c(rep(0,50))

x.real=c(rep(0,50))

y.real=c(rep(0,50))
x=matrix(rep(0,100),,ncol=50,byrow=T)
y=matrix(rep(0,100),,ncol=50,byrow=T)
for(j in 1:N)

{

longest=rep(1,100)

switch=0

for(i in seq(1,99))

{

if(fakel,j|!=fake[i+1,j]) switch==switch-+1
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if(fake[i,jj==fake[i+1,j]) longest[i+1]=longest[i]+1
}

x.fake[j]=jitter(switch)
y-fake[j]=jitter(max(longest))

longest=rep(1,100)

switch=0

for(i in seq(1,99))

{

if(real[i,j]!=real[i+1,j]) switch=switch+1
if(real[i,jjJ==real[i+1,j]) longest[i+1]=longest|[ij+1
}

x.real[j]=jitter(switch)
y.real[j]=jitter(max(longest))
x[,j]=c(x.fakelj],x.real[j])

yhil=c(yfake[j]yreallj])

}

xmin2=min(x.fake[1:N],x.real[1:N]);xmax2=max(x.fake[1:N],x.real{1:N])
ymin2=min(y.fake[1:N],y.real[1:N}]);ymax2=max(y.fake[1:N],y.real[1:N])

# S (jittering) + FATEA|

contour(density2$x,density2$y,density2$z, xlim=c(xmin2,xmax2},ylim=c(ymin2,ymax2),xlab=
"number of switches” ,ylab="1length of longest run” ,main=""Fake and real flips of 100 coin flips”)
for(j in 1:N)

{

par(new=T)

plot{x.fake[j],y.fake[j],type="p” ,pch=15, xlim=c(xmin2,xmax2),ylim=c(ymin2,ymax2),col="red”,
xlab="number of switches” ,ylab="length of longest run” ,main="Fake and real flips of 100 coin
flips”)

par(new=T)

plot(x.real(j],y.reallj],type="p" ,pch=16, xlim=c(xmin2,xmax2},ylim=c(ymin2,ymax2),col="blue”,
xlab="number of switches” ,ylab="length of longest run”,main="Fake and real flips of 100 coin
flips”)

arrows(x.fakelj],y.fake[j],x.reallj],y.reallj],length=0.15,lty=2)

}

legend(locator(1) legend=c(" fake” " real” ),pch=c(15,16),col=c(”red”,” blue”))
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# 5 B: ‘STUDENT-1-FAKE.TXT 3} ‘STUDENT-1-REAL.TXT" /3. <]

‘student-1-fake.txt” 74 o

1001011001
0011011100
0010110110
01111060010
1000110100
1001110011
0011001011
0001101100
0101101010
1001100011

‘student-1-real.txt’ F4 il

0101001000
10106000011
0101010111
0001111100
0110110010
0010110010
1010100111
0011100010
1061001111
0100010110

HE C: ‘Z 2ok 2007.TXT H X ok 72008.TxT° Y &

‘X ZOFT2007.txt" 2] W

A d s F 353 34
1 SK 73 48 5 603 465

2 F4F 70 54 2 578 480

3 313} 67 57 2 534 481

4 A3 62 60 4 497 509



5 LG 58 62 6 532 600

6 Htl 56 69 1 530 615
7 24| 55 68 3 533 554
8 KIA 51 74 1 499 602

‘3 2 oF1-2008.txt’2] W&

THE s 5 IEA
1 SK 83 43 0 632 461

2 4} 70 56 0 647 542

3 %] 69 57 0 624 518

4 4144 65 61 0 557 596

5 &3} 64 62 0 592 595

6 KIA 57 69 0 503 555

7 302 = 50 76 0 499 609

8 LG 46 80 0 468 646

o

[etd

V&

4L, 2HE, OB, ZH3| (2008). <ZATI=E>, SAREH.
Gelman, A. and Nolan, D. (2002). Teaching Statistics: A Bag of Tricks, Oxford University Press, Oxford.
Rao, C. R. (2003). <Z&&3 A9 whd> (Y A Statistics and Truth: Putting Chance to Work), o] A%

%7, gD,
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Useful Cases for the Probability Education in the
Elementary Statistics Course
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Abstract
Because the probability education in the elementary statistics course is the starting part of the inferential
statistics, it is hard to follow the lecture for undergraduate students. In this paper, we suggest the useful
cases for the probability education in the elementary statistics course and give the corresponding R scripts.

Keywords: Statistical education, probability, R script.
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